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%d;whk; jtizg;guPl;ir – 2018 
Kaw;rpahz;ikf; fy;tp 

juk; 11 
  Gs;sp toq;Fk; jpl;lk; 

gFjp 1 
 

 

 

 

 
 

(1×40= 40 Gs;spfs;)  
gFjp 11 

tpdh ,y 01 
i. m) Gjpa Ng&e;J jupg;gplk; jpwf;fg;gl;lik    (01 Gs;sp) 

M) Njit:- czT 
   tpUg;gk;;:- ,aw;if kuf;fwpfSld; $ba czTfs;> ghdq;fs; (01 Gs;sp)  

ii. Mf;fG+u;tj;jpwd;> mu;g;gzpg;G> tplhKaw;rp    (2×1 = 02 Gs;spfs;) 
iii. 1. ftu;r;rpfukhd ,yhgk; 

2. ,aw;if czT toq;Fgtu; vd;w gpurpj;jk; 
3. r%f eyd; nghUl;L gq;fspg;Gr; nra;Ak; Mj;k jpUg;jp 
4. jdJ Mw;wy;fis gad;gLj;jpf;nfhs;sy; 
5. jd;dpiwT epiy 

      6. Rje;jpuk;         (4×1/2=02 Gs;spfs;) 
iv. 1. FLk;gj;jtupd; xj;Jiog;G 

2. Kaw;rpahz;ik ghlmwpT 
3. jhahupd; rpwe;j czTj; jahupg;G Kiwfs; 
4. Gjpa Ng&e;J jupg;gplj;jpw;F mz;ikapy; tPL mike;jpUe;jik 
5. rhfpj;adpd; Mf;fj;jpwdhd rpe;jid    (2×1 = 02 Gs;spfs;) 

v. m) ntspNaw;wg;gLk; rfy fopTfisAk; kPs;Row;rpf;Fl;gLj;jp Nrjd gris jahupj;jy;>   
czTf; fopTfis gz;iz tsu;g;gpw;F gad;gLj;jy;  (01 Gs;sp) 
M) Gjpa Ng&e;J jupg;gpl%lhf gazpf;Fk; rfy gpuahzpfSk; (01 Gs;sp) 

vi. jsghlk; & 100000 +  fl;blk;  & 200000 =  & 300000  (02 Gs;sp) 

vii. %yjdk; & 300000 + & 100000 + & 200000 = & 600000   (02 Gs;sp) 

viii. cw;gj;jpr; nryT 
%yg;nghUs; ngw;Wf;nfhs;s    &  120000 

 kpd;rhur;nryT     &   7000 
ePu;r; nryT     &   3000 
vupnghUs; kw;Wk; vupthA   &   9000 
rikay;fhuu;> cjtpahsu; rk;gsk;  &  21000 

     &  160000  (02 Gs;sp) 
ix. xU myfpw;fhd cw;gj;jpr; nryT 

160000   = & 80 
                2000       (02 Gs;sp) 
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1. 4 11. 2 21. 4 31. 3 
2. 3 12. 2 22. 1 32. 1 
3. 2 13. 4 23. 3 33. 3 
4. 1 14. 3 24. 2 34. 4 
5. 2 15. 1 25. 1 35. 3 
6. 1 16. 3 26. 2 36. 3 
7. 2 17. 4 27. 3 37. 2 
8. 4 18. 2 28. 3 38. 4 
9. 1 19. 2 29. 1 39. 2 
10 4 20. 2 30. 2 40. 3 
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x. tpw;gid tUkhdk; & 200 x 2000 =  & 400000   (02 Gs;sp) 
tpdh ,y 02 
01) 1. gy;ypdj;jd;ikfis cUthf;fpf; nfhs;sy; 2. Njhy;tpfis rfpj;Jf;nfhs;sy; 

3. Mu;tj;ij Cf;Ftpj;jy;   4. gpur;rpidfis rthyhff; fhZjy;  
5. Mf;fj;jpwd; gapw;rpf;fhd re;ju;g;gk;  6. Mf;fj;jpwid kjpj;jy; 
7. Mf;fj;jpwd; elj;ijfisg; gpd;gw;Wjy;   (4×1/2 = 2 Gs;spfs;) 

02) epyk;> ciog;G> %yjdk;> Kaw;rp     (4×1/2 = 2 Gs;spfs;) 

03) Gjpa fz;Lgpbg;G> ePbg;G> gpd;gw;Wjy;> $l;L   (4×1/2 = 2 Gs;spfs;) 
04) 1. nghUshjhur; nraw;ghLfspy; <LgLjy;  2. el;l ,lUf;F Kfk;nfhLj;jy; 

3. nfhLf;fy; thq;fy;fspy; <LgLjy;  4. tsq;fisg; gad;gLj;jy; 
5. Nghl;Lf;F Kfk; nfhLj;jy;   6. Ra Cf;Ftpg;G fhzg;gly; 
7. cw;gj;jp> nfhs;tdT> tpw;gid njhlu;gpy; jPu;khdnkLj;jy; 
8. njhlu;e;J epiyj;jpUj;jy; njhlu;gpy; rpe;jpj;jy;  (4×1/2 = 2 Gs;spfs;) 

05) 1. njhopy;fisg; ngw;Wf;nfhLj;jy;  2. tPLfs; mikj;Jf;nfhLj;jy;  
3. Fiwe;j tUkhdk; ngWk; gps;isfSf;F epjp cjtpfs; nra;jy; 
4. fl;blq;fis epu;khzpj;Jf; nfhLj;jYk;> cgfuzq;fis toq;fYk; 
5. murhq;fj;jpd; eyd;Gup eltbf;iffSf;F cjTjy;  (4×1/2 = 2 Gs;spfs;) 
(NtW nghUj;jkhd cjhuzj;jpw;F Gs;sp toq;fTk;) 

tpdh ,y 03 
01) 1. tzpfr; nraw;ghLfis jpl;lkpl;Lr; nraw;gLj;jy; 

2. nfhLf;fy; thq;fy;fis rupahf mwpf;ifg;gLj;jy; 
3. ntspr;#oy; khw;wq;fis ,dq;fz;L nfhs;sYk;> Njitahd KbntLj;jYk; 
4. tzpfupd; jdpg;gl;l tho;tpid tzpfr;nraw;ghLfspypUe;J NtWgLj;jp itj;jpUj;jy;  
5. mur epWtdq;fspd; cjtpfisg; ngwy; 
6. rpwe;j khdplj;njhlu;Gfis Vw;gLj;jy;    (4×1/2 = 2 Gs;spfs;) 

02) 1. njhopy;El;gj;jpwd;  2. khdplj;jpwd;  
3. vz;zf;fU uPjpahd jpwd;fs; 4. FOf;fSld; nraw;gLk; jpwd;fs; 
5. njhlu;ghly; jpwd;fs;  6. MNyhridj;jpwd;fs; 
7. Kd;khjpupahf nray;gLk; jpwd;fs;    (4×1/2 = 2 Gs;spfs;) 

03) 1. cupikahsu; tfpgq;F  2. Kfhikahsu; tfpgq;F 
3. jiytupd; tfpgq;F  4. cupikahsu; tfpgq;F  (4×1/2 = 2 Gs;spfs;) 

04) 1. tzpfj;jpw;Fupa gyk;> gytPdq;fis mwpa Kbjy; 
2. tzpfr; re;ju;g;gq;fis ,dq;fhdy; 
3. rthy;fis ,dq;fhz KbAk; 
4. #oy; khw;wq;fSf;F nghUj;jkhd tifapy; cw;gj;jp> kw;Wk; tpw;gid eltbf;iffis 
  nfhs;sy; 
1. #oy; khw;wq;fSf;Nfw;g jpl;lq;fis tFj;jYk;> cgha khu;f;fq;fis jPu;khdpj;jYk; 

(1×2 = 2 Gs;spfs;) 
05) 1. thbf;ifahsu;   3. Nghl;bahsu;fs; 

2. toq;Feu;fs;;   4. gjpyPl;L nghUl;fis cw;gj;jp nra;J tpepNahfpg;Nghu; 
5. vjpu; fhyj;jpy; tzpfj;Jiwapy; gpuNtrpf;f vjpu;ghu;j;Js;Nshu; (4×1/2 = 2 Gs;spfs;) 

tpdh ,y 04 
01)  1. Gjpa tUkhd khu;f;fq;fis cUthf;Fk; Mw;wiy mjpfupj;Jf;nfhs;tjw;F 

 2. Nghl;br; re;ijfSf;F ntw;wpfukhf Kfk;nfhLg;gjw;F 
 3. gad;gLj;jhj tsq;fis cr;rkhfg; gad;gLj;Jtjw;F 
 4. ntw;wpfukhf tzpfr; re;ju;g;gq;fis mile;J nfhs;tjw;F 
 5. #oy; gpur;rpidfis Fiwj;Jf;nfhs;tjw;F 
 6. jdpj;Jtkhd tsq;fisg; ghJfhf;fTk;> vjpu;fhyr; re;jjpapdUf;Fr; Nrkpf;fTk; 
          (4×1/2 = 2 Gs;spfs;) 

02) 1. nrhe;jr; Nrkpg;G  
   2. jdf;Fupa nrhj;Jf;fis <LgLj;jy; my;yJ tpw;wy; 
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   3. ez;gu;fs;> cwtpdu;fsplk; fld;ngwy; 
   4. tq;fpf;fld; 5. thbf;ifahsuplk; Kw;gzk; ngwy;    (4×1/2 = 2 Gs;spfs;) 
03) re;ijapYs;s Efu;Nthupy; xU Fwpg;gpl;l FOtpdu; jkJ NjitfisAk;> tpUg;gq;fisAk; G+u;j;jp 

nra;J nfhs;s Kbahj epiy re;ij ,ilntsp vdg;gLk;.   (01 Gs;sp) 
nghUj;jkhd cjhuzj;jpw;F        (01 Gs;sp) 

04) 1. tzpfnkhd;whf mgptpUj;jp nra;af; $ba jpwd; ,Uj;jy; 
2. #oypypUe;J vOfpd;w Njitfis epiwT nra;af; $bajhftpUj;jy; 
3. Njit> tpUg;gq;fspd; khw;wj;jpw;Nfw;g gpujpgypg;ig ntspg;gLj;jf; $bajhftpUj;jy; 
4. Nghl;bjj;jd;ikf;F ntw;wpfukhf Kfk;nfhLf;f $bajhftpUj;jy; 
5. njhopy;El;gj;jpw;F nghUe;jf; $bajhftpUj;jy; 
6. vjpu;Nehf;Fk; mgha msitf; Fiwj;Jf;nfhs;sf; $bajhftpUj;jy; 

   7. tzpfnkhd;whf tsu;tjD}lhf tUkhdk; ciof;ff; $bajhftpUj;jy; (2×1 = 2 Gs;spfs;) 

05) gyk;> gytPdk;> tha;g;G> mr;RWj;jy;     (4×1/2 = 2 Gs;spfs;) 
tpdh ,y 05 
01) 1. tzpff;fUj;Jf;fis tpsf;f   3. topfhl;Ltjw;F 

2. tzpfr; #oy; gw;wpa mwptpidg;ngw  4. vjpu;fhy epiyikiaf; fhl;Ltjw;F 
5. re;ij gw;wpa rpwe;j kjpg;gPl;bidg; ngw;Wf;nfhs;s 
6. Njitahd tsq;fis ,dq;fz;L nfhs;s 
7. tzpfj;jpd; ntw;wpia mwpe;J nfhs;s 
8. tzpfk; gw;wpa nghJthd tpsf;fj;ij ngw;Wf;nfhs;s             (4×1/2 = 02 Gs;spfs;) 

02) jdJ nghUs; my;yJ Nrit nfhs;tdT nra;Nthu; vd vjpu;ghu;f;ff; $ba my;yJ vjpu;fhyj;jpy; 
nfhs;tdT nra;aj; J}z;l KbAkhd thbf;ifahsu;fs; ,yf;F thbf;ifahsu;fshFk;.(01 Gs;sp) 
nghUj;jkhd cjhuzj;jpw;F (01 Gs;sp)  

03) 1. cw;gj;jpr; nray;Kiw   2. epiyahd cw;gj;jpr; nrhj;J  
3. cw;gj;jpf; fpuak;   4. myFf;fhd fpuak;      (4×1/2 = 02 Gs;spfs;) 

04) 1. re;ij Ma;tpw;fhd nryT 
2. ,lj;ij mgptpUj;jp nra;tjw;fhd nryT 
3. %yg;nghUl;fisAk;> cgfuzq;fisAk; Njbg;ghu;g;gjw;fhd nryT 
4. gjpT nra;tjw;fhd nryT      (4×1/2 = 02 Gs;spfs;) 

05) fUkk;:- Copau; Nfhg;Gf;fis guhkupj;jy; 
   nghWg;G:- Cf;fg;gLj;jg;gl;l Copau; FOnthd;iwg; guhkupj;jy; 
 
tpdh ,y 06 
01) 1. epiyahd nrhj;Jf;fspd; ngWkjp 

2. tzpfnkhd;iw Muk;gpf;f Kd;du; Vw;f Ntz;ba nryTfs; 
3. tzpff; fUkq;fis md;;whlk; nfhz;L elhj;Jtjw;F Njitg;gLk; nryTfs; (02 Gs;spfs;) 

02) 1. nghJ Nehf;fnkhd;W ,Uj;jy; 
   2. tiuaWf;fg;gl;l tsg;ghtid 
   3. nghUshjhu eltbf;iffspy; <LgLjy; 
   4. egu;fs; FOthf xd;wpize;J ,Uj;jy; 
   5. $l;Lj;njhlu;G fhzg;gLjy;       (2×1 = 02 Gs;spfs;) 
03) ,uz;L cjhuzq;fSf;F (02 Gs;sp) 
04) 1. Ntiyapd;ikf;F jPu;thf ,Uj;jy; 
   2. nghUshjhu tsu;r;rpia vl;l Ntz;bajhftpUj;jy; 
   3. gad;gLj;jg;glhj tsq;fs; jhuhskhff; fhzg;gLjy; 
   4. Gjpa njhopy; toq;Feu;fis cUthf;f Ntz;bajhftpUj;jy; 
   5. tUkhdg; gfpu;T Vw;wj;jho;Tfis Fiwf;f Ntz;bajhftpUj;jy;      (4×1/2 = 02 Gs;spfs;) 
05) 1. rk;gsk; ngWfpd;w njhopy;fSf;F cs;s tuNtw;G 
   2. rthy;fisAk;> Mgj;Jf;fisAk; nghWg;Ngw;gjw;F tpUg;gkpd;ik 
   3. fy;tpapD}lhf topfhl;ly;fs; toq;fg;glhik 
   4. mur mDruiz NghjpasT fpilf;fg;ngwhik 
   5. jq;fp thOk; kNdhepiy ,Uj;jy;       (4×1/2 = 02 Gs;spfs;) 
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tpdh ,y 07 

Mjtd; tzpfk; (1/2 Gs;sp) 

1.                 2018 [dtup khjj;jpw;fhd cj;Njr fhRg; gha;r;ry; $w;W 
tpguk; &gh &gh 

fhR cl;gha;r;ry; 
Mjtd; ,l;l fhR 
je;ijaplk; flDf;F ngw;w gzk;  
nghUs; cw;gj;jp tUkhdk; 
fld;gl;NlhuplkpUe;E fpilj;j fhR 
fhR ntspg;gha;r;ry; 
nghUs; nfhs;tdT 
cgfuzf; nfhs;tdT 
kpd;fl;lzj;jpw;fhd nryT 
Copau; rk;gsf; nfhLg;gdT 
fld; jtiz kPs toq;fy; 
Vida nryTfSf;fhd nfhLg;gdT 
nkhj;j fhR ntspg;gha;r;ry; 
Njwpa fhR kPjp 

 
200000 
300000 
340000 
120000 

 
180000 
200000 

3 Gs;sp  10000 
45000 
50000 
20000 

 

 
 
      2 Gs;sp 
 
960000 
  
 
 
 
 
 
 
(505000) 1/2 Gs;sp 
455000  01 Gs;sp 

 
 

 
2. fhR kPjp & 455000 (1 Gs;sp) 
3. Mjtd; ,l;l gzk; & 200000 

je;ijaplk; ngw;w gzk; & 300000 
    & 500000 (2 Gs;sp) 
 
 

 


